[image: image1.png]In the following problems, the data table contains the values of various fields of
MIPS instructions. You will be asked to determine what the instruction is, and
find the MIPS format for the instruction.
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a. | 0p=0, rs=1, r1=2, rd=3, shamt=0, funct=32

b. | 0p=0x28, rs=0x10, 1t=015, const=0x4

2.11.4 [5] <2.5> What type (I-type, R-type) instruction do the instructions
above represent?

2115

<2.5> What is the MIPS assembly instruction described above?

2116
above?

<2.4, 2.5> What is the binary representation of the instructions




[image: image2.png]For these problems, the table holds various binary values for register § 0. Given the
value of $t0, you will be asked to evaluate the outcome of different branches.

a. | 0x00001000

b. | 0x20001400





[image: image3.png]2.16.6 (5] <2.7> Suppose the program counter (PC) is set to 0x2000 0000. Is it
possible to use the jump (j) MIPS assembly instruction to set the PC to the address
as shown in the data table above? Is it possible to use the branch-on-equal (beq)
MIPS assembly instruction to set the PC to the address as shown in the data table

above?




[image: image4.png]The following three problems in this exercise refer to this function, written in MIPS
assembler following the calling conventions from Figure 2.14:

a | f: sub  $s0.%aD.%a3
S11 $v0,45D.0x1
add  $vD,$22.8v0
sub  $v0.8vD.$al
ir  4ra

bo| f:addi  $sp.$sp.8
sw $ra.dssp)
Sw $50.0(8sp)
move  $s0.8a2

g
add  $v0.$v0.850
Tw o $ra.dissp)
Tw o $50.0(85p)
addi  $sp.$sp.-8
ir $ra

2.21.4 (10] <2.8> This code contains a mistake that violates the MIPS calling
convention. What is this mistake and how should it be fixed?




[image: image5.png]For this exercise, you will explore the range of branch and jump instructions in
MIPS. For the following problems, use the hexadecimal data in the table below.

0x00001000

0xFFFCD000

2.26.1 [10] <2.6,2.10> If the PC is at address 000000000, how many branch (no
jump instructions) do you need to get to the address in the table above?

2.26.2 [10] <2.6, 2.10> If the PC is at address 0x00000000, how many jump
instructions (no jump register instructions or branch instructions) are required to
get to the target address in the table above?




